1.2 Graphs of Equations

Vocabulary:
1) Equation in two variables: J :}'“GDX
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Examples:

1) Does the point (1,5) lie on the glgraph of 1 = 4 — |J$ — 2‘
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2) Complete the table of values and sketch the graph of Y= 5 - :L'z

S
S el N ___g.ﬁf




2) Symmetry:

a) With respect to the x-axis
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b) With respect to the y-axis
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c) With respect to the origin
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3) Find the x-intercept and the y-intercept and use symmetry to sketch a graph of these equations.
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4) Find the x-intercept and the y-intercept and use symmetry to sketch a graph of these equations.
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4) Find the x-intercept and the y-intercept and use symmetry to sketch a graph of these equations.
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CIRCLES
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standard equation of the circle with center (h, k) and
radius r

What is the standard equation of the circle with center at (-3,2) with radius 3:
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5) Write the standard form of the equation of a circle with endpoints of the diameter at (-4,-1) and (4,1)

ey () )
(4, 1) H\( ~ T )
Et) N @5 ‘955 >(0,0)

F-A“\Y(J(\—-ZH\ ) =
-\H 1> =T

(x—0) + (W-ob
Kyt =\



	Page 1: Jan 26-11:33 AM
	Page 2: Jan 26-11:36 AM
	Page 3: Jan 26-11:34 AM
	Page 4: Jan 26-11:36 AM
	Page 5: Jan 26-11:38 AM
	Page 6: Jan 26-11:38 AM
	Page 7: Jan 26-11:35 AM
	Page 8: Jan 26-11:40 AM

